MAT 102 - Exam] - Spring 2015

Wy

Instructor: Dr. Francesco Strazzullo Name

Instructions, Each problem is worth 10 points, Remember to check your solutions and “box™ them reduced to lowest terms or with
decimal numbers rounded to lwo decimal places. You might need some of the following formulas:
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SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Simplify the following radical expression
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2. Solve the following quadratic equation.
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3. Two brothers, Tom and Brian, cach inherit $24000. FTom invests his inheritance in a savings account with an annual return of 2.5%,

while Brian invests his inherilance in a CD paying 4.5% annually. How much mere money than Tom does Brian have after | year?
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4, Consider the following absolute value inequality,
4x+3| <6

(a) Describe the solution set using interval notation, and (b) graph the solution set. 3
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5. A rock is thrown upward with a speed of 24 meters per second from the top of a 44 meter high cliff, and it misses the cliff on the
way back down. When will the rock be 10 meters from the water, below?
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6. Solve the following rational equation.
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7. You try to fill your cracked 12 cc cup with waler. The drinking fountain fills the cup at a rate of 2 cc per second, while from the
crack water drips at a rate of 0.6 cc per second. How long would it take to fill your cup? (Set up a rational equation and solve,

rounding to one decimal place)
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8. Solve the following radical equation.
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